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https://dl.doubtnut.com/l/_qQa26P74WwSr
https://dl.doubtnut.com/l/_d04CuBEdBwqD

12. fo3fl JmaTg Bogst i Arfedesr & oS Ifg x
. 8, il SHBT Qb fbeT1 81T -

Answer: C

omwéﬁ



https://dl.doubtnut.com/l/_d04CuBEdBwqD
https://dl.doubtnut.com/l/_IO3b3rYnh7Qf

13. 4,/3 It .2 &9 Il FHETg Byl H 1D
STT & owalTS fpet-11 &1l -

A. 4 39,

,,;|§§|,,;

L
L

é%

Answer: A

Oaﬁ%ﬁr?ﬂ?aﬁ



https://dl.doubtnut.com/l/_IO3b3rYnh7Qf
https://dl.doubtnut.com/l/_lqzbhkawBSZ5
https://dl.doubtnut.com/l/_lxiwaQChGEJk

14. g ol AT bl T 3N &1 g1 o foan

1A Al SUHBT ATB fBd-T §6 ST

Answer:

Oaﬁ%ﬁrw%ﬁ



https://dl.doubtnut.com/l/_lxiwaQChGEJk
https://dl.doubtnut.com/l/_nIr01sNR6CoZ

15. U 3°f 9 qHaTg B P aRAT F9H g1 afg
3t & fapul B oTreTs 124/2 FH. & Al BsT &1
ATl fepd-T g1 :

A. 24./2 3. 2

B. 24./3 . 2

C. 48,/3 3. 2

D. 64./3 It 2

Answer: D

Oaﬁ%ﬁr:ﬁ?a@f



https://dl.doubtnut.com/l/_nIr01sNR6CoZ

